Pedigrees – Notes                                     Name: ___________________________________                                       Period: ______

Objectives:

1. To explain the importance of pedigrees.

2. To analyze pedigrees.

Homework: none

I. Pedigrees

A. Pedigrees are used to determine the ______________of traits.

1. Inheritance means the passing of genes on from one generation to the next.

2. Pedigrees are ____________ _______________________ which show which individuals in the family get ______________ ________________. 
B. There are many different symbols used in pedigrees.

1. 


[image: image10.emf] is a _______ and  is a ________
2. 
[image: image3] or 
[image: image4] means the male or female ______________ the trait being studied. 
3. 
[image: image5] or 
[image: image6] means the male or female ________   __________   ____________ the trait.
4. [image: image1][image: image8.emf]      or         means the male or female is a ____________ for the trait or (genotype:                ) 
5. [image: image9.emf]If a square and a circle are connected,              it means those individuals are the __________________________.
6. If there is a line coming down from the connected couple, it means they have children. 

7. Offspring are ______________ to each other and their ______________. 

8. The people at the very top of a pedigree are in the parental generation, or the P-generation.

9. The row under the P-generation is called the F1-generation (“F” stands for filial, meaning child)
a. People who marry into the F1-generation are NOT counted as part of the F1-generation.

10. Every generation after the F1-generation is called the F2, F3 and so on.


[image: image7.png]@as |




1. How many people are there in the family?________________________________

2. How many males are there in the family?________________________________

3. How many females are there in the family?________________________________

4. How many generations are there?____________________________________________

5. How many people in the whole family have the disease?________________________________

6. What is the sex of the parent who has the disease?________________________________

7. How many people are in the F1 generation?________________________________

8. How many people in the F1 generation have the disease?________________________________

9. What is the sex of the  person in the F1 generation who has the disease?_________________________

10. How many people are there in the F2 generation?________________________________

11. How many people in the F2 generation have the disease?________________________________

II. Creating a pedigree : Follow along with me on the board and draw the pedigree on the back side of your notes!! 
A. Two parents.  The male parent has the disease and the female is free of the disease.

B. The F1 generation has 6 children – one male has the disease, two females are heterozygous for the disease, two females are free of the disease, and one male is heterozygous for the disease.

C. A female who has the disease marries and mates with the heterozygous male from the F1 generation.  They have four children (two females and two males).  One of the female children is free of the disease and the other three children are heterozygous for the disease.  

D. A male who is free of the disease mates with the female who is free of the disease from the F2 generation.  They have three female children who are also free of the disease.

HOMEWORK: TO BE DONE ON A SEPARATE SHEET OF PAPER

1)  Two parents.  The male parent is heterozygous for the disease and the female is free of the disease.

2)  The F1 generation has 5 children – two females are free of the disease, one male is free of the disease, one male is heterozygous for the disease, and one female is heterozygous for the disease,
3)  A male who is a carrier (heterozygous) for the disease marries and mates with the heterozygous female from the F1 generation.  They have three children (two females and a male).  One child (female) is homozygous (carries the trait) for the disease and the other two children are both free of the disease.  

4)  A female who is free of the disease mates with the male who is free of the disease from the F2 generation.  They have three female children who are also free of the disease.

